3.10 Related Rates (pect 2)

* Example 1. Two airplanes take off from an airport.
One leaves at noon flying 500 mi/hr due east. The
other one leaves at 1 pm flying 600 mi/hr due
north. Assuming both planes fly at the same and
constant altitude, how fast is the distance between

em changing at 3 pm? -
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 Example 2. An airplane is flying horizontally at an
altitude of 1 mile and a speed of 500 mph. An
observer on the ground is looking at the plane. At
what rate is the angle between the line from the
observer to the airplane and the ground changing

when the airplane is 2 miles from the observer?
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 Example 4. The bottom of a large theater screen is
3 ft above your eye leved and the top of the screen
is 10 ft above your eye level. Assume you walk
toward the screen (perpendicular to the screen) at
a rate of 7 ft/s while looking at the screen. What is
the rate of change of the viewing angle (from the
bottom of the screen to the top of the screen)
when you are 70 ft from the wall, assuming the

floor is flat?
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e Example 3: The top of a ladder leaning against a
wall is sliding down at a rate of 0.15 m/s. Atthe
moment when the bottom of the ladderis 3 m
from the wall, it slides away from the wall at a rate
of 0.2 m/s. How long is the ladder?
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